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2 Funner]mesbakamotypesofcake(chocohtemd
vanilla) to supplement his income. Fach chocolate cake can
be sold for S1, and each vanilla cake can be sold for 50¢.
Each chocolate cake requires 20 minutes of baking time and
uses 4 eggs. Each vanilla cake requires 40 minutes of baking
time and uses 1 egg. Eight hours of baking time and 30 eggs
are available. Formulate an LP to maximize Farnier Jones’
revemve..
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1 Fumerlonesmustd&m:inebwmymofeom
and wheat to plant this year. An acre of wheat yields 25
bushels of wheat and requires 10 hours of labor per week.
An acre of corn yields 10 bushels of corn and requires 4
hours of labor per week. All wheat can be soid at $4 a
bushel, and all corn can be sold at $3 a bushel. Seven acres
of land and 40 hours per week of labor are available,
Government regulations require that at least 30 bushels of
corn be produced during the current year. Let x; = number
of acres of corn planted, and X3 = number of acres of wheat
planted. Using these decision variables, formulate an LP
whose solution will tell Farmer Jones how to maximize the
total revenue from wheat and corn.
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4 Truckco manufactures two types of trucks: [ and 2.

Each truck must go through the painting shop and assembly wly
shop. If the painting shop were completely devoted to 4 &Mﬂ//‘) AL"'/ /?aFJ‘ ' a
paintmg Type 1 trucks, then 800 per day could be painted:

if the painting shop were completely devoted to painting

Type 2 trucks, then 700 per day could be painted. If the (IJMI fo@@ /W -‘?da?{
assembly shop were completely devoted to assembling truck

1 engines, then 1,500 per day could be assembled; if the
assembly shop were completely devoted to assembling truck okl 700 56@/
2 engines, then 1,200 per day could be assembled. Each &’V‘ A/9 1200

Type 1 truck contributes $300 to profit; each Type 2 truck
contributes $500. Formulate an LP that will maximize w
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table roquires lohoum-lhbomwbmndsof"ood. Tbcpmﬁtdmdﬁ'om cach chair is $400
and fram el table, $100. The <ompany wants g, determing he number of chaiy and tables
Produce cac, day in order g4y maximize profiy.

& Formubue a e, Programming made for this problen;

b, Solve this madel by using graphicaf analysis.

5 In Problen 4 how much labor ang wood will he unused if the optimal numbers of chairs and
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